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GCSE Maths-Numeracy Unit 1 Intermediate tier 3310U30-1

All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1a 12942 0.5 0.5 1 53.5 99.9
1b 12910 1.7 1.3 3 55.2 99.7
2 11333 2.2 2 5 44.8 87.5
3 12509 1.2 1.4 3 39 96.6

4a 12132 0.6 0.5 1 64.5 93.7
4b 12208 0.7 1.1 3 21.9 94.3
4c 11307 0.4 0.8 2 19.7 87.3
5a 12249 1.7 1.9 6 28.8 94.6
5b 11578 1.1 1 2 53 89.4
6 11883 1.2 1 3 39.4 91.8

7a 12840 0.9 0.4 1 85.5 99.2
7b 12811 1.6 0.8 2 78.1 98.9
7c 12326 1.8 1.3 3 60.7 95.2
7d 11540 0.6 0.5 1 64.3 89.1
7e 12404 0.5 0.5 1 53.1 95.8
8a 12526 2 1.3 3 65.4 96.7
8b 11240 1 1.3 3 32.3 86.8
9a 11949 1.7 1.4 3 56.5 92.3
9b 11497 0.4 0.6 2 18.1 88.8
10 11271 0.7 0.9 2 35.2 87

11a 11809 0.7 0.8 3 23.2 91.2
11b 8687 0.2 0.6 3 6.6 67.1
12 11729 2.4 1.6 4 59.9 90.6

13ai 12490 0.3 0.4 1 25.1 96.5
13aii 12421 0.4 0.5 1 43.9 95.9
13bi 11364 1.7 1.4 4 42 87.8
13bii 8862 0.5 0.8 2 23.2 68.4
13c 11198 0.2 0.6 2 10.1 86.5
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Sticky Note
Three divided by 5 is not 0.7, it is 0.6. The method is correct, but for the final A mark a correct response is required. 
M1 A0 A0 is awarded. 
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Sticky Note

The candidate has a misread, the frequency for the final bar is 4 not 2. However they use this as the denominator, with a correct numerator. B0 M1 A1 is awarded. 
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4.	 Rodney records how much energy, in calories, different energy bars provide.
	 Each energy bar has a mass of 35 g.


	 Rodney draws a frequency diagram to display his findings.
	 He uses groups of width 10 calories:


100 X energy ! 110,        110 X energy ! 120,        ......,        140 X energy ! 150


0


5


10


15


20


100 110 120 130 140 150


Frequency


Energy (calories)


	 (b)	 What fraction of the energy bars provide less than 130 calories?	 [3]


	


	


	












Question 5a 
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5(a)  100 × 720 ÷ 360  or   260 × 720 ÷ 360  
                                     or for sight of 1° is 2 bags 
 
200 (large bags sold) and 520 (small bags sold) 
 
 
 
(Total sales) 200 × (£)1(.)80  +   520 × 80(p)   
                    (=       £360        +   £416 ) 
 
 
 
 
 
 
                                                                 (£) 776 
            


M1 
 
 


A2 
 
 
 


M1 
 
 
 
 
 
 
 


A2 
 
 
 
 
 
 


 
 
 
A1 for 200 (large bags) or 520 (small bags) or 
for ‘their number of large bags’  
                  + ‘their number of small bags’ = 720  
 
Ignore incorrect units stated, mark intention 
Or equivalents all in p or all in £ 
Accept equivalent 720 × 80p + 200 × (£)1 
FT for ‘their 200 large bags’ × (£)1.80 and  
‘their 520 small bags’ × 80p,  
provided ‘their 200’ ≥ 50 and ‘their 520’ ≥ 130,  
‘their 520’ ≠ ‘their 200’ and both are whole numbers 
 
CAO 
A1 for either 


• a correctly evaluated sum with one correct 
evaluation of a product 
or 


• on FT for the correct evaluation of  
‘their smaller value’×(£)1.80 + ‘their larger value’×80p  
For example   100 × (£)1.80 +  260 × 80p = £388 is 
awarded M0 A0 M1 A1  
 
If initial M1, A2 awarded also award SC1 for one of 
the following seen: 


• 200 × 80(p) + 520 × (£)1.80  = (£)1096 


• £360 and £416 (no method mark as not added) 
 
If no marks, award SC1 for sight of 260(°)  
 


5(b) Method to compare, e.g. 


• (Small bag per kg) 2.5 × 80 or 80×1000÷400 


• (Per 100g) small 80p ÷ 4 and large £1.80÷ 10 


• (g per penny) 400 ÷ 80 and 1000 ÷ 180 


• (Per 200g) 80p ÷ 2 and £1.80 ÷ 5 


• (Per 2000g) 5 × 80p and 2 × £1.80 


• (Large bag per 400g) £1.80 × 0.4 
 


Accurate comparison calculation, e.g. 


• (Small bag per kg) £2 


• (Per 100g) small 20p and large18p 


• (g per penny) small 5g and large 5.5(5...) or 5.6g 


• (Per 200g) small 40p and large 36p 


• (Per 2000g) small £4 and large £3.60 


• (Large bag per 400g) 72p 
AND 
Conclusion, Large bag (better value)  
 


M1 
 
 
 
 
 
 
 
 


A1 
 
 
 


 
 
 
 


Needs to show comparing like quantity with like 
 
 
 
 
 
 
 
 
If units are given they must be correct 
 
 
 
 


6.  (a =)    32(°) 
     (b =)   148(°) 
     (c =)   122(°) 


B1 
B1 
B1 


 


 
FT 180 – ‘their a’ provided a ≠ 90 
FT 90 + ‘their a’ provided a ≠ 90   or   
   270 – ‘their b’ provided b ≠ 90    
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Question 5a 



Sticky Note

The number of bags, 520 and 200 are correct. The candidate attempts to find the cost of 200 bags at £1.80 each, but does not attempt to find the cost of 520 bags at 80p each. M1 A2 M0 A0 is awarded. 












Sticky Note

The number of large bags and small bags are both correct. Large bags cost £1.80 each, but the candidate has used the £1.80 as the cost for a small bag. And vice versa. Had their calculations then been correct, there was a special case mark available, but an error was made. M1 A2 M0 A0 SC0 is awarded. 
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5.	 Evans Grocery sells bags of frozen peas.


Cost of small bag (400 g) = 80p Cost of large bag (1000 g) = £1.80


	 (a)	 The pie chart shows information about the number of bags of frozen peas that were sold 
last month.


100°
Number of
small bags


Number of
large bags


		  A total of 720 bags of frozen peas were sold last month.
		  Calculate the total cost of the sales of the frozen peas.	 [6]


	


	


	


	


	


	


	


	


	












Question 8a 
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7(a)  18 (g) B1 
 


 


7(b)  15 – 12.5   or    5  ×  0.5 
                                                              2.5 (cm) 


M1 
A1 


 


 


7(c)  Sight of 20 (cm) 
(Wingspan in inches is)   12 × 20 ÷ 30   
                                                                8 (inches) 


B1 
M1 
A1 


 


 
Allow 20 ÷ 2.5 or 20 × 0.4 or equivalent 
CAO 


7(d)  Positive (correlation) B1 
 


Do not accept a description 


7(e)  An answer in the inclusive range  
                                                  18.5 (cm) to 22.5 (cm)  
 


B1 
 
 


 
 


8(a)     420  - 420 × 35 ÷ 100                  (= 420 – 147) 
     or  (100 – 35) × 420  ÷ 100   
    or equivalent 
                                                            
                                                       273 (people) 


M2 
 
 


 
A1 


 


M1 for any one of  


• 420 × 35 ÷ 100   


• sight of  42 + 42 + 42 + ½ of 42 


• sight of 147 
 


8(b) 420 ÷ 20 × 17  
 
 
 
                                                           357 (people) 
 


M2 
 
 


 
A1 


 
 


M1 for any of the following: 


• 420 ÷ 20 (= 21)  


• sight of 21  
 
CAO. Allow embedded as 420 : 357 
Award A0 for 357 : 420  
 


8(b) Alternative method 1 
(420 ÷ 20) × (20 + 17) – 420             (= 777 – 420)      
 
 
 
 
                                                          357 (people)                                          


 
M2 


 
 
 


 
A1 


 


 
M1 for any of the following: 


• 420 ÷ 20 (= 21) 


• sight of 21  


• sight of 777 
 


CAO. Allow embedded as 420 : 357 
Award A0 for 357 : 420  
 


8(b) Alternative method 2 
   420 – (20 – 17) × (420 ÷ 20)            (=420 – 63) 
                                                 
 
 
 
                                                          357 (people)                                          
                           


 
M2 


 
 
 
 


A1 
 


 
M1 for any of the following: 


• 420 ÷ 20 (= 21) 


• sight of 21  


• sight of 63 
 


CAO. Allow embedded as 420 : 357 
Award A0 for 357 : 420  
 


8(b) Alternative method 3 
Full ratio method to find 357 people, e.g. 
(20 ×) 420  : 17 × 420   
         (20)              20 
 
 
 
 
 
                                                    357 (people)                                          


 
M2 


 
 
 


 
 
 
 


A1 


 
Allow seen in stages, including written as an 
appropriate sum of equivalent ratios, e.g. attempting 
17 + 340 (from 20 : 17 and  400 : 340)  
 
M1 for any of the following: 


• 420 ÷ 20 (= 21)  


• sight of 21  
 


CAO. Allow embedded as 420 : 357 
Award A0 for 357 : 420  
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Question 8a 



Sticky Note

The candidate has a method using 10% and 5% of 420.  However they have only considered 25%, rather then finding 35% of 420 to subtract from 420.  No marks are awarded. 












Question 8a 



Sticky Note

The candidate correctly calculates 35% of 420, but makes an error subtracting this 147 from 420. M2 A0 is awarded. 
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8.	 People travel by bus or by train from Hiraddug Station.
	 On Tuesday, 420 people travelled by bus from the station.


	 (a)	 Of the 420 people who travelled by bus from the station, 35% had a travel pass.
		  Calculate the number of people who travelled by bus and did not have a travel pass.	 [3]


	


	


	


	


	


	


		












Question 12 
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10.            5.1 × 108 B2 Allow 5.10(00....) × 108 
B1 for the correct value written in index form, e.g.  
51 × 107 or 510 ×106 
or  
B1 for the sight of either of the following 


• 51 000 000  and 5.1 × 107      


• 5 100 000 000 and 5.1 × 109 


• 5 × 108 
 


11(a) Suitable uniform scales on both axes, costs to 
£110 and number of bottles from 0 to 100 
 
 
 
 
 
Correct representation of costs for 0 to 100 bottles  


B1 
 
 
 
 
 
 


B2 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 


 


Allow for cost axis 


• starting from £10 


• final label is £100 (rather than £110 or £120)  


• suitable for ‘their plotted points’ with 
increasing costs for increasing number of 
bottles 


 
With no incorrect points plotted  
Joined with dotted or solid straight line 
Ignore any additional ‘correct’ points plotted for more 
than 100 bottles 
Examples of points: 


Bottles 0 20 40 60 80 100 


Costs £ 10 30 50 70 90 110 


 
B1 for any one of: 


• One incorrect plot, that is not (0, 10), on an 
otherwise correct graph. (0,10) must be 
plotted and joined 


• correct graph for an inclusive range of 50 
bottles 


• at least 2 correct points plotted, with no 
incorrect points plotted, ignore vertical lines 
or ‘line of best fit’.  Allow for points not joined 


 
Note: the drawing of a bar chart should only be 
awarded B1 maximum for the uniform scales 


 


11(b)  1750 ÷ 1.75  or  1750 × 4/7  or  1750 ÷ 7/4   
       
                                                                           + 10 
                                                                £1010 
 


M1 
 
m1 
A1 


 


Allow sight of 1000 provided not from incorrect 
working (not for 1 litre = 1000 ml) 
 
 
If no marks, award SC1 for sight of ‘÷ 1.75’ or ‘÷ 7/4’ 
or ‘× 4/7’ or equivalent 
 


12. (Width of small sticker is) 42 ÷ 14 
                                                                         3 (cm)                                        
(Length or width of large sticker)  4 × 14   OR   4 × 3           
                                              56 (cm)   AND    12 (cm) 


M1 
A1 
M1 
A1 


 


 
Must be for the small label (check the diagram) 
FT ‘their 42 ÷ 14’ 
 
(Note: Incorrect logic 42 × 4 = 168 with 168 ÷ 56 = 3 
does not give the width of the small label! M0 A0) 
 


12. Alternative method: 
(Area of large sticker)                 42 × 42     (= 672cm2) 
(Length of large sticker)              14 × 4     (= 56cm) 
 
(Width of large sticker) 
                                          42 × 42   or   672 
                                          14 × 4           56 
  (Length and width of large sticker)  
                                                 56 (cm) AND 12 (cm) 
 


 
M1 
M1 


 
M1 


 
 


A1 
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Question 12 



Sticky Note

The length of the larger sticker, 56cm, is correct. The error is multiplying the smaller area by 4, rather than finding the length of the shorter side for the smaller sticker first. 
M0 A0 M1 A0 is awarded. 
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12.	 Rectangular stickers with warnings written on them are often placed near
	 water taps.


	 The rectangular sticker shown below warns of hot water.
	 It has a length of 14 cm and an area of 42 cm2.


	 The sticker below is mathematically similar to the first sticker.
	 It is an enlargement of the first sticker, with scale factor 4.


	 Calculate the length and the width of the larger sticker.
	 You must show all your working.	 [4]


	


	


	


	


	


	


	


	


	


This water is hot


This water is hot


Diagram not
drawn to scale


Diagram not
drawn to scale
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WJEC GCSE MATHEMATICS - NUMERACY 
 


SUMMER 2022 MARKING SCHEME 
 
 


Unit 1: Intermediate Tier  Mark Comments 
1(a)                                        £3.80 B1 


 
 


1(b)      4 hours 20 minutes B3 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 


 
 
 
 
 


 


For B2 or B1, allow costs seen within repeated 
additions linked with the appropriate time 
 
B2 for sight of any of the following: 


• 260 minutes  


• £5.40 for 4 hours or for 240 minutes 


• ((£5.80 - £3) ÷ 40p =) 7 seen or implied with 
7 lots of 20 minutes considered 


• 140 (minutes) (= 2 hours 20 minutes) 


• a final answer of 2 hours 20 minutes in the 
answer space 


 
B1 for sight of any of the following: 


• £4.20 for 3 hours or 2 hours 60 minutes, 
allow for 2.60 


• (£5.80 - £3 =) £2.80  


• (£5.80 - £3) ÷ 40p (= 7)   


• ((£5.80 - £3) ÷ 40p =) 7  
allow for 7 provided it is not from incorrect 
working, it should be derived from 7 lots of 
40p on to the £3, e.g. 7 lots of 40p. Ignore 
further incorrect working once awarded, such 
as an answer of 7 hours 


 


2.(Total rainfall for 10 days is 10 × 1.8  =) 18  
 
 (Mean rainfall for 1st 11 days of April)  
                                      (10 × 1.8  + 4)  ÷ 11                      
                                                                   (=) 2 (cm) 
                    


B1 
 


M1 
 


A1 
 


May be implied in further working  (e.g. from sight of 
22 (cm) total rainfall) 
FT ‘their incorrectly evaluated 10 × 1.8’ 


2. Alternative method 
(Additional rainfall per day)          (4 – 1.8) ÷ 11      
                                                                 (=) 0.2 (cm) 
  
(Mean rainfall for 1st 11 days of April) 
                                      ( 1.8 + 0.2 =)           2 (cm) 
 


 
M1 
A1 


 
B1 


 
 


 
 
 
 
FT ‘their incorrectly evaluated (4 – 1.8) ÷ 11’     


Organisation and communication 
 
 
 
 
 
 
 
 
Writing 


OC1 
 
 
 
 
 
 


 
 


W1 


For OC1, candidates will be expected to: 
• present their response in a structured way 
• explain to the reader what they are doing at each 
step of their response 
• lay out their explanations and working in a way that 
is clear and logical 
• write a conclusion that draws together their results 
and explains what their answer means 
  
For W1, candidates will be expected to: 
• show all their working 
• make few, if any, errors in spelling, punctuation and 
grammar 
• use correct mathematical form in their working 
• use appropriate terminology, units, etc. 
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Question 2 



Sticky Note

The total rainfall for 11 days is calculated correctly, 22cm. But the mean should be calculated by dividing this by 11 and not 10. 

B1 M0 A0 is awarded. 

For OCW, there are no labels or units. For showing the working and correct use of symbols with no misuse of equal signs, W1 is awarded, but OC0. 
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2.	 In this question, you will be assessed on the quality of your organisation, communication and 
accuracy in writing.


	 During the first 10 days of April, the mean daily rainfall in Gwentre was 1.8 cm.
	 On 11th April, the rainfall in Gwentre was 4 cm.


	 By finding the total rainfall for the first 10 days of April, calculate the mean daily rainfall for the 
first 11 days of April.


	 You must show all your working.	 [3 + 2 OCW]
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3. Partial method, to find the cost of 200g of apples,  
e.g. 
 30p for 100g, 3p for 10g, 3 ÷ 5, 3/5, 300 ÷ 5, 
3(00) × 200 ÷ 1000  
 
 (Cost of 200g of apples)  60(p) or (£)0.60 
(Change is)                                       (£)9.40  or 940(p) 


M1 
 
 
 
 


A1 
A1 


 


Must engage with 1 kg = 1000 g conversion and the 
cost 
 
 
 
If units are given they must be correct 
CAO.  Allow £9.40p 
 


4(a) 130 ≤ energy < 140 B1  
 
 
 


Accept unambiguous indication, e.g. 130 – 140  
Allow e.g.‘130,140’, ‘130   140’ 
Do not accept the values 130, 140, 18 or a choice 
between the group and the frequency 
 


4(b)  Total of 37 (energy bars) 
 1 + 4 + 12 
      37 
 
 
 
                    17 
                    37 
 


B1 
M1 


 
 


 
 


A1 
 
 


 
 


 


 
FT ‘their 37’ provided > ‘their 1+4+12’  
Also allow one error in misreading 1 frequency, which 
impacts consistently on ‘their denominator’ and 
possibly ‘their numerator’  
 
Only FT  ‘their 37’ provided  


• ‘their 37’ is 36 or 38 or 39 
or  


• ‘their 37’ is clearly from an addition error in 
calculating 1 + 4 + 12 + 18 + 2 


 


ISW for incorrectly simplifying their fraction 
 


4(c)  (100 ×)  2                or   (100 ×) 1 – (100 ×) 18 
                 18 + 2                                               18 + 2 
                                           10 (%) 
 


M1 
 


A1 
 
 
 


FT any repeated misread of the scale from (b) 
 
 
Award 2 marks for an answer of 10(%) unless from 
incorrect working 
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Question 3 



Sticky Note

The candidate makes an error subtracting 60p from £10, giving £8.40 which is incorrect. M1 A1 A0 is awarded. 












Question 3 



Sticky Note

This candidate incorrectly thinks 1kg is 100g, which is incorrect and simplifies the question. No marks are awarded. 
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3.	 Apples cost £3 per kg.
	 Elsa buys some apples weighing a total of 200 g.
	 She pays with a £10 note.


	 Calculate how much change Elsa should get. 
	 You must show all your working.	 [3]


	


	


	


	


	


	


	












Question 4b 
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3. Partial method, to find the cost of 200g of apples,  
e.g. 
 30p for 100g, 3p for 10g, 3 ÷ 5, 3/5, 300 ÷ 5, 
3(00) × 200 ÷ 1000  
 
 (Cost of 200g of apples)  60(p) or (£)0.60 
(Change is)                                       (£)9.40  or 940(p) 


M1 
 
 
 
 


A1 
A1 


 


Must engage with 1 kg = 1000 g conversion and the 
cost 
 
 
 
If units are given they must be correct 
CAO.  Allow £9.40p 
 


4(a) 130 ≤ energy < 140 B1  
 
 
 


Accept unambiguous indication, e.g. 130 – 140  
Allow e.g.‘130,140’, ‘130   140’ 
Do not accept the values 130, 140, 18 or a choice 
between the group and the frequency 
 


4(b)  Total of 37 (energy bars) 
 1 + 4 + 12 
      37 
 
 
 
                    17 
                    37 
 


B1 
M1 


 
 


 
 


A1 
 
 


 
 


 


 
FT ‘their 37’ provided > ‘their 1+4+12’  
Also allow one error in misreading 1 frequency, which 
impacts consistently on ‘their denominator’ and 
possibly ‘their numerator’  
 
Only FT  ‘their 37’ provided  


• ‘their 37’ is 36 or 38 or 39 
or  


• ‘their 37’ is clearly from an addition error in 
calculating 1 + 4 + 12 + 18 + 2 


 


ISW for incorrectly simplifying their fraction 
 


4(c)  (100 ×)  2                or   (100 ×) 1 – (100 ×) 18 
                 18 + 2                                               18 + 2 
                                           10 (%) 
 


M1 
 


A1 
 
 
 


FT any repeated misread of the scale from (b) 
 
 
Award 2 marks for an answer of 10(%) unless from 
incorrect working 
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Question 4b 



Sticky Note

This candidate has counted 3 bars out of 5 bars, rather than engage with frequency. No marks are awarded. 
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© WJEC CBAC Ltd. 


WJEC GCSE MATHEMATICS - NUMERACY 
 


SUMMER 2022 MARKING SCHEME 
 
 


Unit 1: Intermediate Tier  Mark Comments 
1(a)                                        £3.80 B1 


 
 


1(b)      4 hours 20 minutes B3 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 


 
 
 
 
 


 


For B2 or B1, allow costs seen within repeated 
additions linked with the appropriate time 
 
B2 for sight of any of the following: 


• 260 minutes  


• £5.40 for 4 hours or for 240 minutes 


• ((£5.80 - £3) ÷ 40p =) 7 seen or implied with 
7 lots of 20 minutes considered 


• 140 (minutes) (= 2 hours 20 minutes) 


• a final answer of 2 hours 20 minutes in the 
answer space 


 
B1 for sight of any of the following: 


• £4.20 for 3 hours or 2 hours 60 minutes, 
allow for 2.60 


• (£5.80 - £3 =) £2.80  


• (£5.80 - £3) ÷ 40p (= 7)   


• ((£5.80 - £3) ÷ 40p =) 7  
allow for 7 provided it is not from incorrect 
working, it should be derived from 7 lots of 
40p on to the £3, e.g. 7 lots of 40p. Ignore 
further incorrect working once awarded, such 
as an answer of 7 hours 


 


2.(Total rainfall for 10 days is 10 × 1.8  =) 18  
 
 (Mean rainfall for 1st 11 days of April)  
                                      (10 × 1.8  + 4)  ÷ 11                      
                                                                   (=) 2 (cm) 
                    


B1 
 


M1 
 


A1 
 


May be implied in further working  (e.g. from sight of 
22 (cm) total rainfall) 
FT ‘their incorrectly evaluated 10 × 1.8’ 


2. Alternative method 
(Additional rainfall per day)          (4 – 1.8) ÷ 11      
                                                                 (=) 0.2 (cm) 
  
(Mean rainfall for 1st 11 days of April) 
                                      ( 1.8 + 0.2 =)           2 (cm) 
 


 
M1 
A1 


 
B1 


 
 


 
 
 
 
FT ‘their incorrectly evaluated (4 – 1.8) ÷ 11’     


Organisation and communication 
 
 
 
 
 
 
 
 
Writing 


OC1 
 
 
 
 
 
 


 
 


W1 


For OC1, candidates will be expected to: 
• present their response in a structured way 
• explain to the reader what they are doing at each 
step of their response 
• lay out their explanations and working in a way that 
is clear and logical 
• write a conclusion that draws together their results 
and explains what their answer means 
  
For W1, candidates will be expected to: 
• show all their working 
• make few, if any, errors in spelling, punctuation and 
grammar 
• use correct mathematical form in their working 
• use appropriate terminology, units, etc. 
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Question 1b 



Sticky Note

No marks are awarded. £3 for 2 hours is correct, but after that the candidate has not engaged with the 40p for every additional 20 minutes. 












Sticky Note

 7 lots 40p is shown, which gives 7 lots of 20 minutes a total of 140 minutes onto the first 2 hours is all correct. The error is in adding these times. 
B2 is awarded. 
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© WJEC CBAC Ltd.


1. Castell Car Park


	 Parking charges


	 £3 for the first 2 hours, or part of the first 2 hours


	 AND after that


	 40p for every further 20 minutes, or part of each 20 minutes


Maximum stay is 24 hours


	 (b)	 Elin paid £5.80 to park her car in Castell Car Park.
		  What is the maximum length of time that Elin has paid for?
		  Give your answer in hours and minutes.
		  You must show all your working.	 [3]


	


	


	


	


	


	


	


	


	


	


Maximum length of time is …….. . . . . . . . . . . . . . . . . . . . .……. hours …….. . . . . . . . . . . . . . . . . . . . .……. minutes
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